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Beispiel-Grundriss Typ Swing. Gesamt 142,84 m2

So könnte Ihr Zuhause aussehen. 

Bad 7,51 m²
Flur 7,33 m²
Elternschlafzimmer � 12,77 m²
Kinderzimmer 1 10,47 m²
Kinderzimmer 2 10,47 m²

Gesamt � 48,55 m²

Galerie 13,65 m²
Arbeitszimmer 21,49 m²
Dachterrasse 50 % 4,02 m²

Gesamt � 39,31 m²

Obergeschoss Dachgeschoss

B
au

fe
ld

-N
or

d 
H

au
s 

0
8

,1
5

H
au

st
yp

 S
w

in
g-

R
ec

ht
s

U
nv

er
bi

nd
lic

he
 V

is
ua

lis
ie

ru
ng

0
1 m

2 
m

3m

M
aß

st
ab

 1
:5

0

P
fu

ng
st

ad
t-

Es
ch

ol
lb

ru
ec

ke
n 

Q
ua

rt
ie

r 
am

 D
ra

ch
en

be
rg

Flur

Kinderzimmer 1 Kinderzimmer 2

Bad

EG
55

,1
3 

m
²

O
G

48
,5

4 
m

²

B
ad

7,
50

 m
²

Zi
m

m
er

 1
12

,7
7 

m
²

Zi
m

m
er

 2
10

,4
7 

m
²

Zi
m

m
er

 3
10

,4
7 

m
²

Fl
ur

7,
33

 m
²

D
G

39
,1

6 
m

²

D
IN

-W
oh

nfl
äc

he
 g

es
. 

(in
kl

. 1
%

 P
ut

za
bz

ug
)

14
4,

8
7 

m
²

B
au

fe
ld

-N
or

d 
H

au
s 

0
8

,1
5

H
au

st
yp

 S
w

in
g-

R
ec

ht
s

U
nv

er
bi

nd
lic

he
 V

is
ua

lis
ie

ru
ng

0
1 m

2 
m

3m

M
aß

st
ab

 1
:5

0

P
fu

ng
st

ad
t-

Es
ch

ol
lb

ru
ec

ke
n 

Q
ua

rt
ie

r 
am

 D
ra

ch
en

be
rg

Galerie
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Abstellraum 1,56 m²
Küche 14,84 m²
WC � 1,47 m²
Wohnen/Essen 31,63 m²
Terrasse 50 % 5,63 m²

Gesamt � 55,13 m²

Erdgeschoss
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